af1#1 1000m : +1000m

5} 10°C : —10°C



M




1 o]t
2 _/[\‘If: _1’
]-'E

Jizro] 73
® 29

St

s
= A =



-6 HT 3TF 22 5 q,

o] grg Ffedel.

D
=%






o|J
S
ol

dlig
=
o
<
Nfo

op

@ 1<-2

10 | b~

<t
o~
A
B746,5
S)



7. fe%-TTak Aol gt nE A48 ool
L
o
KL
=
S
ot



8.

th2 A AZr o] A Wofl o] 422 3
o] HE T = x y O] 3F2 Asleal gt
olwf, xy o] at& oozt



® (-5.6) — (-4.7) = -1.1



— <t

— | 00

— |00



11. o= 2N Al Jofl 5 |l 9] go] ®5
Fex e o, @ €92 &7

H

o]
® -2
@ -6 ® -10 (s ][7][-

® 10 @ 6

1l






13. (=20) = (

O -2

5

3

)

15

— = AtsA?
7 A4tst

11
-5 0%



14. the 574 9ol AR ABE3 1 o2 Ukt C o) B
Fateler.

il

A

Y X
| @)



15. 54549 5L A0go] A7 BRI 2 ), 4 9 %S
Fateler.

D
=%



16. Al {215 a, b, ¢ ol 5t th= & &4 2 227

® axb=bxa @ (a+b)+c=a+(b+c)
® axbxc=ax(bxc) @a+b:a><%(‘€r,b¢0)

®a+b+c=a=+(b=+c)



17. a2 A4ttt

Aot esh (2
Be



18.

F el a bl distl a>0, b<0 L W, O T Y &

B 9 el 7] Fojofel,

@ a-b<0 © a+b<0

@ axb>>0 @ a®>+b%<0

© a’xb>0

kd = 4l



19. 3.999 x 436 + 3.999 x 564 & AAFSIAL, AAL TG A AFEH ALk
HZS A2 Azt

D
=%
D

=%



20.

M2 e F 189 a, b ol tiste]
akb = (a, b T AYigto] 2 %),
avb = (a, b T AAZo] 22 &)

2oz (<2)u{(+2)v(-1)} o we peterer

5 J=X
=%



21l =25, 1bl=5 %1% A% a b Hotol a b o] HAGE A a2
o] 21%:3S B 2 514, o]t A + B ] FHL? o






@ 3 @ 4 ® 8

@ 2



5%
folzt.

T

I3
R

-3 FAA Al & Fot =

:I]_

O
=

W, a-b 9 2

St
=

5 bl



25.

Ffega boll ot axb <0, lal < bl, a+b<0 L, a2tb
o BTz g AL B,
D a>0,b<0 @ a>0,b>0 ® a<0,b>0

@ a<0,b<0 ® a<0,b=0



